
Math 1000, Final Exam, Summer 2013 Name

Inst ruct ions:Readtheinst ruct ionsoneachproblemcarefu l ly .  
complpteal lpar tsof theproblem. onsome problems you wil l  be asked to show work by hand. In general, qroblems beginning with fractionsshould end with them; problems beginning with decimals should end [vith them. Round only wheninstructed to do so, except when working with money: in that .rr., drni ; il ;;;;;r. penny.

t '  consider the l ist of,exam jcores from a certain argebra crass. i
Y,fr ,fl , N, gg,frE, y, f , W,fl , LoB, pq,g{, 7A, tr, VF f

a. Find the mean of the exam grades. (g points) 
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b. Find the median of the exam grades. (L0 points) i

4 sZ {/lr Lfr , fr, 4, h,74, 4z 1 4:1s,7(, W, fr ,&'fi ,

+t
Find the mode of the exam grades. (you may report up to
report "no mode".) (g points)

,,4^4 ,naL(- ( S *fu"- azre ,,a.fnr#J ,, 73, uf, It

2' Suppose you have a iar containing 5 green marbles, 7 blue one$, 11 red ones and 2 whitemarbles. Use this information to answer the foilowing questiorlrs.
a. How many marbles are in the jar? (5 points)

Z S
b. what is the probabir i ty of pui l ing a brue marbre from the jarj? (7 points)

fir,rzo modes, but if there are three,

7
a :



What is the probabil i ty of pul l ing f irst a blue marble from
back, then pull ing a white marble from the jar? (g points)

the jar, and without putt ing i t
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d. What is the probabil i ty of selecting either a green or a marble on the first try? (g points)

l :  r - :  =
2 t  2 s

3. Five sample values are given below.
L 'J . ,7 ,5,6,9

a. Find the mean of the numbers. (5 points)
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Find the variance of the data. (L2 points)
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c. Find the standard deviation of the data. (5 points)
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4. Use the information from the graph berow to answer the questions that foi low.

ients seen in MR

Patipnts seen in MRI
:*"

C ""tr r""" ""q ".". """" C 4P 
"dlln what vear was the rargest number of patients ,.". '. th; R;ii;;;,i ,^ni t, ia^,t l
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In what year was the smal lest number of pat ients seen in the MRr? (7 points)

2 n n 9
a- t ' -> \ )  |

l
In the year with the largest number of MRI pat ients,  approximately how many pat ients wereseen? (Approximate to the nearest 50.)  (7 points) ;

/v I nn r-.,/"- | ur'; u-",
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In 2003, approximately 500 patients were seen in the ra lab. Use a proport ion and the
patients were seen in the

information from the chart to determine approximately how
following year,2OO4. (g points)

may check your answers in a calculator, but give exact answe
245.1.29
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5. Perform the operatio/rbUy t,rnO. you must show work on problems to receive credit. you
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in al l  cases. (8 points each)

1 , + 4 ) x 2 =

4  l Q t r r \ v 1- t \ f ' - t ) l \ b -
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write the result in scientific

f l
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T z K s i r o t z b  =  l O - Z
t -

lo - 36 +zG
Find the value of the expression (4.6 x 10a) + (6.8 x 106) a
,notation. (9 points) .

6.



7. Find the Greatest Common Factor of 16 and 1g. (S points)

8. Find the Least Common Mult iple of j .6 and 19. (g points)

l y
9. For the Roman numerals below, write the Arabic represe

numbers, write the Roman numeral equivalent. (g points
a. LV

5T

b. 2208

M

c. 804

DCC_O lV

d. LXIX

of the numbers. For the Arabic

b q



10.A certain medication is to be given as t2 mg per 75 lbs of
How much medication should be given, in mg? You may rou
place i f  needed. (10 points)

IL,

c. Microl i ter

= 3o,4  n5

Write the abbreviations for the fol lowing terms. (4 points ea
a. Decimeter

Crn

b. Dram

5 o Y

Mcl

&r

d.  Mi l l igram rnt

12. Write out the word(s) for each of the fol lowing abbreviations
a. mcg

Vwtc'WXvu.t'vw

b. km
)tt, Lo **f,,"

c. cg

weight. Your patient is 190 lbs.
your answer to one decimal

symbols. (4 points each)

d. oz.



L3.
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Make the fol lowing conversions (within in the same system). ig points each)
i

14. Write the fol lowing expressions in the appropriate apothecary
a.  L5 drams

notation. (4 points each)

3 X V

\-) i
i

b. 4so mg/Lis equivaten. ro , 4 1 i ulr.

'FgZ$5, .  lc: ' .
l L  l o o o w

c. 1600 ft is equivalent to i
places if needed t',.r.) 

i

L9o- ff. t 'ru.
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15.

a. 70 mg is equivalent to

b.  4  pounds

+ iV

Using the conversions in the table below between apothecary
metric system, make the following conversions. (These appro)
to one decimal place if  needed.) (8 points each)

.S. Customary units and the
ations are approximate. Round

Metric Apothecary U.S Customary
5 m l 1 tsp
30 ml 1 ounce L ounce
L l i ter 1 q t
2.5 cm 1 i n



L m 39 in
L k m 0 ,6  m i
60 mg L gra in
1 " g L5 grains
1 k g 2.2 lbs

l -

a. 2 kg is equivatent ." {.  
t{ 

,or. I
l

/ ,  
t t

b. 16 in is equivalent to 70 cm.

c: gr xv is equivalent to

L6. Write out in English what the doctor is ordering for the
explain al l  abbreviations in your descript ion. (16 points)

patieri t  on the form below. Be sure to

&
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